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Read the following
- as A '
multiple answers piven under each guestion % C & D and blackening the dppropriate

circiefoval given on the right side of the OMR Answer Sheey by Black/Blue ball poin pen only.

.1 Correct answer to each question carries b mark.
| RARYS 94989 0q qeqike @egl EANIRE AT e 998 §7969 S, &, 9 9o g oF
[ QUIANYS GGy SRefReg @08 688F 9053 590,016 BRRTYE amay 8ol
| L " i
Q0R9NANIGLR caee eRlAlR emadS SRYES @853 gocien @ea Qug| gesye g9e
| 90e eseald ¢4 aid gu@e | | echofworld.In
1.1f the ratio of the area of two SUATES IS 3:27, then what is the g of their perimeters 7
A) 1:9 B) 1:81 C)l:3 D) 4:36
9% 9OF edenga cagawa LGOS :99 9, 6969 69NIRGE adainlg 2FAIE 6R6T ?
Q)e:c &) e:re )y @)y
2. HCF of two numbers is 8 and LCM is 24. What is the result of multiplication of the two
numbers 7
I A) 144 B) 192 C)24 D) 96
.l QR @eil @ 6. 9. g G M.l g 9% el geta gaTH 6960 ?
@) exy [ﬁl%ﬂﬂ a) 9% a) ¢

3. Age of Radha is 3 times the age of Reena, After 12 years, the age of Radha will be two times of
Reena. Find the age of Radha & Reena after 3 }reml-s_
A) Radha-39 & Reena-12 B) Radha-39 & Reena-15
C) Radha-15 & Reena-39 D) Radha-12 & Reena-39
|uiel @l eIl @Udel 9 glal 2R e9 ad gen U Qad Rl SKae _El Elé‘lIE‘EG"I

9 od 66 Xl & G QIR & 998 ereo coo ?
@ﬂw - qic G QIRl - €8 D 3%

Q) il - €9 G SR =M gp 37

@) Rl - ¢ G IRl - €9
q) aul - es G IRl - fic




% The present ap of Sita is thrice the 88€ O Geeyy Throe vears alter, the age of Sita becomes
twice the A2e of Goerq, What is the present 4pe of Sitg ?

A) 3 B) 12

R L) 6
QEFIR 98 ong gioia @A N g8 | g o

J6R, AIGIR 9Ad G181 @aaa 9 ga a9
QEFIR 91018 Ong gage 7 3 3

@) (s q) ¢ a) o
3The length & width ofa rectangle is increased by 50%. What is the percent increase in areq
of the new rectangle over the original.

A) 2000, B) 225% C) 250% ) 4004

66N 2IdeRiasapa M B 98 9 90001 g0 cpip DeGER, 90R ZiNoRg Saisla
SHRTR FR 21006106000 6HGTHA doap) ERED Q0 7

®) 9003, @) 998% @ 980% ) ¥oo%

5 Between two numbers, 5 times of the greater one equals
sum of both the numbers is 33. find the greater number 2
A) 15 B) 18 C)22
986 @8 Aug oo el q & RlEl 6060, QR a9
! SUIEITR 99 94, 99 T°aNE sosp ?

@) o8 @i er al) 99 a) es

7- The sum of the squares of two numbers is 3341

to 6 times of the smaller one. If the

D) 16
g6l 68601 AT @gy gag

and the difference of their Squares is 891

The
numbers are:

A) 25,46 B) 35, 46 €)25,36  D)none of these

FEE QG Q0IQ CRAIFTR N9K e qo-

6ARIRGE QEIR UBA e e | ey 9RG el

%) 98, ¥9 (@)ng, ¥ %) 28,99 Q) 9IeG qug caegn q6d

8How many three digit numbers can be formed by using 0, 1, 2 without repetitio,
A)6 B)4 0)8

D)9
O, € 89 Q 6RR 6REOIF BF 2 GElg a6l 6RIRaGe | 667l

94 968 gy q greaIga
699 AF |

@) ) Q7




#3599.04 + 89.976+7% of 19x10° =2

A) 163 B) 137 C) 193 D) 189
MBCC + ro.099 + g Q 9% x €07="7

@) esq af ) en9 (8] eog a) erc

A)O B) 0.396 €036
0.5 B 90%% 0¥ fueg qidey 65607

@) o _Eﬂc':"] f) 0.9 @) o.ofcs

11. The minimum marks 1o pass in an examination is 33%. Ope student

D) 0.0396

got 220 marks but failed for
11 marks. What is the total marks in that examination 7

A) 800 B) 700 C} 900 D) 600

S6IN QENAiea Qi REiel Qig aeRf ROR 6FIE FERG 33% | oeg 219 220 AFQ g

11 RA8 AR 6T 62R | 6060 TABIER 6AIE FER c6p elml ?
E-F} Wels] @gnu Gl) foo i) 900

12.Find the smallest number which when divided by 4 & 3 gives remainder 1 in each ¢
is divisible by 9 ? T hOfWO r|d | N
A) 171 B) 61 ) ru:m'
606 G0N A6l @ ¥ B 8 QIBl QIS G6M JoIRGE ¢ AITEEN RER, FIR ¢ ol QI
Wem QICIEEE BR oPe FID ?

@) ese G) e g re g) 99e

ase but it

13. When a seller sold a phone at Rs.3750.00, he got a loss of Rs.250.00. What will be the

sale

price to get a profit of 30% ?

A) Rs. 4000.00 B) Rs. 5000.00 G{“& 5200.00 D) Rs, 4630.00
BRIEN 6TIR § ©9980.00 6 90919 §980.00 MF coF | 6R60 SFER TREER o
geae me eRIRagl ?
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A) 92 :
B) 80 € 6 64 A
: o GEAFIRE 8 909 §F ERgn
# @8 TRy B W oF 969 @400 F8 ss k] Zmll & qd '
eee 7

9 8) ro

B &) ees
a) 2

1k
cost of | hﬂ”“m then what js the cost of (}e Oringe 7
/ A) Rs, 2.00 B) Rs. 4.00 C) Rs, 3.00 D} Rs. 5.00
| W6 @R 3 ya TR & AR 9% ea 2gg, ag W R 55 oo g
| AHOIR € 6a 2jyq 2, 6562 661 PG ARy ceg0 7 2
: @) 9 oq E) ¥ ea a) 0 oql &) & o
- 18. A radius of g Circulgay playground js 21mtr, One monkey co _ﬁ]_ﬂlm_]lﬂ:np and takeq
POERIRILC rest in betivepn conseeutive jumps. Calculate the offrest the monkey iy
take for coverip, g the circumference of the Playground.
A) 44 min @43111[“ D) 66min
668N GElmIoIG o8I afEe eyay 2q YR | 61N AIGR apee 3 AR 6edale ¢
21
9528 6oclel asa effeg G B saie aBaig el 26601 080 g Al
| 6966 AFC & Sgia epo I
e _TechofwoHl.In
¥ @) ¥¥fife B) ¥9 fApg 1) Mg =
| 4 ) ) 99 figg |'
%’s annual income s Rs.4.Eﬂ,ﬂﬂﬂ.ﬂﬂ. His annua] sgyir o =
dl | Pl i

) : ..-._:.'_- rhmjﬂﬂﬂﬂﬂ‘ ThL
- ratio of his monthly savings to expenditure i 7 | :
A) 1:6 @57’ C) 1.5
T D)1:38

! B L "-"-'.:'.'.""_:I mﬁq I Gr.a F"E]Q

QIR od @ 214 6.¥,90,000,00 peo | opug
alTy G 6 @ ZPU 6RE 690 ?
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B0 111111 1234321 then -,-.,|1ulﬂll111|"|-'r multiplied by hat numberis 12345654332 |

AVTT111 By 1111 2Aaiiih Dy 11111111
00 eeee x eeee= eoquyge g4, 6969 EFS STENISR 605 qogy gElem gaITR

CHEEI8EN9e cog 7

W) eeeee (@) eeecee ) eReeeeq q) eeeeeeee

19. How much should be added to the smallest 3 digit number for it to be divisible by 11 7
OF 2 G989 goon araicn coee 6AIE e PIRl Be qioy Soioy gpa 7
@) ¢ (f;;ﬁf‘lm o) ee Q) 99

20. The average age of 36 students in a class is 14, When the age of one teacher is added to the
total, it exceeds the previous average by 1. Fi“d_’f": age of the teacher,
A} 55 B) 51 G_j'\)'“ ) 50
EalIc ESlENR TP pa dnie PEeIE Ra8 ¥ @d | G658 dare 909 canne Taa 9B
fdiml 066 QRRIE fAa e od PAN | 6989 SERS0 90a 6960 7
Q) 88 @ﬂe a) ¥ a) g0

21. How many odd numbers are there in between 151 & 1697

—

A)ll ﬁ]‘- C) & D) 10

ege (3 e9¢ (A6R EWEOIT 210g arar 2E |
@) ee &) ¢ a)r Q) eo

22, What will be the rate of interest if, Rs. 52.00 is the simple interest for the principal of
Rs.325.00 n 4 years Techofworld.In
A) 4 C)3 D) 13

aoael QIR 6960 210 IaR GuER 6.998.00 A ¥ Q8L J6R Y 83 BE 6uQ ¢

@) ¥ ) 8 @) @) eq
23. Conversion of 0.0175 in % is:
A) 17.5 B)0.175 C) 1.75 D) 0.0175
0.0175 @ PR I661 JRI6 @6hl 6R66 00 ?
— pEg
E':! 28,8 ﬂ} 0.0948 EH.IIE_E.::"H'- ﬂ] 00820




i - e in table tennis
% In g class of 40 5, - | nﬂ'ﬂiﬂg“ 38
Wdents, 1/4 of the total Sidents are gﬂﬂdm swi :
and the rest ;. By

PR d iﬂ =
o od 1y np:he::r. How Ay siudents mﬂl}ﬂd D) 21
Cy 19 ~ o GRIRY sasmR M
§RIEN i agaiea @ '
| " ¥o 0g gig 28E | ORUL ey qie BIB

i e NGEIRER 6RO GE g
WIBIEOTM Sotge, R G 2R FIER Upoigeg an 268 | i

a8g |
Ges Techofworld.In_
, ' @) er @EC"
| 25.0ne pot was )., e sed from the pot. After that hy)p
| with waler, 12 lir. 250 ml. Waler wis 2 T
||.I I:Ifwﬂﬂl' rmnmn"‘d in that pot. How much Walter was ]Jl'ﬁﬂﬂl ﬂﬁghﬂﬂf?
| Al ESL_EnﬂM[ B) 251, o i .: ﬂ,} 4L,
61N 26 65 o 2011 989 128 250 A op oo 0GR REER 21 2RI 8% 6By
6969 9450 sa6p on 2Rl ? .
@) 9% @ 800 55 @) 987,

Q) ¥R,

@) 9%@ g0 AR
2815 - 3/R 13/40 + X, Find the valye of X 7

A) 2/3 B) 67/40 r-:) 0

/2 + &/ - a/r - eq/yo + x |

@ﬁmﬂ

Q) 9/

&) 99/x0 ‘il]_;-.n_' ) 9/%0
J
! 27-If the volume of 2 spheres are in the ratio of §:125, then the ra ﬁ!aia?
A)2:5 (B 16:250 (:)# L D)254
‘ B0 gaF 9aq arTRR 2RaI re9s 9y, coge 6AFIRR CHQTRG 2 19010 6065 2
h @)9:8 (es:980 a)  Q)osy

1%

0st of 5 pens and 6 pﬂncﬂst.sJ? 00. Cost of 6 pens and 5
nf!pensand! pencils ?

) Rs. 18,00 @ﬂmm

.‘ gﬁﬂﬂ Th'E.'TI find the

6. E‘.HE’ | 6669 98

) €0 og




Pape 0 ol 78
28. The aver - ) e 48 X I the |y . i
avernge ol 5 consecutive numbers & Wo conseculive numbers Tom (he

; . R
higher end are excluded. the nverage Wwill el

: i C) decrey,
-"‘Il. ] remain lhl: Some H'_I Llefrﬂjj_‘il‘: h:ﬁ - "'I'-_'.-\-L' II-'.

8 CAIT 9fie aelia oiqed X' @6 | BV 698 5T op oan areIg GEIR Q10 Griape,

[2) decrease by () 5

EDEE YRR @IURIE ca6e 628 ?

@) afle ade d) 9 ehe (® ¢ sfe d) 0.8 GAG
30: Decimal of Y4 is 7 TeChOfWO rld I n
A)25 B) 0.25 C)2s D) 0.025

/¥ @ CaFe6a atiae som ewen 629 7
b )10, 20 @) 9.8 @) 0.098

31. When the product of 19 & 13 is divided by their difference, the remainder will be

A)0 B)2 €13 D) |
eC @ 1 Q gaTR § canRF @ BgR 9IRl BAIRS AR, aiccan eree cee ?
@) o (™) 9 o) a) e

32. What will be the amount for Rs.1000/- @10% simple interest per annum for two years ?

A) Rs. 200.00 B) Rs. 1200.00 -@jls.tmn.uu D) Rs. 1210.00
goR@ @d@s eo% Q6 AP QNER ©.8000 QQG EUER 9 @ UGl AN ERER

fAma?
@) 900 G @) egoo @ g) eeco g d) eseo g

33. The population of a city is 3,00,000. If the rate of birth is 3% & ratc of death is 3% of that city,
then what will be the population of that city after two years ?
A) 321120 11220 C)312120  D)322110
6ot aean GRS @°dll 3,00,0001 AT G ela 5% G 1 BlR 3% GRIRAN 6U6R <
od Jca 608 apae GRIT C°8 6960 a6 7
@) M9eeso ¢l) Mee9so g) qegeso ) M99




i H e 10
- The result 0f g

Wiplication of two by ;

4 more than 4 times of
. umber 18
‘15 380, Open

Wt is the Ok

I I“”Ith‘f L l}] '.I|'|.
A) 17 3 2
B 18 :
ﬁﬁ 1781 Bl oy : ok @] W{ lﬂ"ﬁl"“@' L
TR Wro | 6aIe ey Q¥ gag ¥ 249 | |
N | &) 9o
| @)jes 8) er @E;

I : 00000 By wha o ;.
| 35, Salary of A B, are in the ratio 3: 201, Sal; ary of A BB Iﬂgﬂbﬂrh Rﬂ-ﬁﬂ.
Sﬂﬂ]}'-ﬂr A n'l-l'l]{- 0o
A) 1350 B) 100 ) 300
A o = ‘o' @ 98 @8 560,000
III Eﬂﬂra* &l ﬁl;ilﬂr o @'E!FTI'DPE

SER0 caen GoE 7
R eso - afi960 &) foa
G, :
| HE 5% More money than Shyam. Sk, Am's money is less than Hari by what percentage
| A) 25

B)}0

j I D}H
)20 5,
266 B aigg, B 0IR sgGan dUR | gpge mﬂﬂ-?ﬂlm SReR doeie o
266" ?
. » o €Chofworlasin
@) 98 q) %0 ) o8
5%1f the square of | /3,4 of anumber is 36, They yj,q is the 7
A)18 B) 324 C)219 D)6
BBIEN @°gug /% Q od 79 egen Teite ed epep
Rler a)moy g)gec

,51' e was food for |8 days for 35 students in 4 hostel. § of th

ere. Now the
}.'.'-,:l _ ng

#one of the above
88 2049 odelg
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11 af 24
an, = H 1 iy
J Lh) F"'Hrlll'«-' | ”'ll:';h AW I.lrk 'I-'l-':.”.'”ll -“II 'n.I'iL:'.-‘ I h'u"“: III:I"I"- 1132 |J_. I-I

Y5 5§ people will take 1o 15 ik 1hint
wopk 9
A) 60 By 150 )6 Dy 12
%0 § GRAIP 6915 Fin @ fo Gpe B8E OUEY & § oo o5 RIFg 6950 Soeg
@G ?
@) 90 o) ego a) 2 q) e9

40, I got 16 numbers of one rupee & 50 paise cOINS from a shop i, exthange for R.10, Then

how many number of 1 rupee coins I got ?
A) 10 B) 6 C)4 [} None of the above
q 68152 60iRIpg eo ow eomes € 6%l B 80 doag go Feam €9 § g9l aighl

6062 ¢ ST ol Reeld agR ?

@) 2o a) 8 Bl) ¥ Q) 6RlOEE & ged

SECTION-B
Translation & Retranslation
PART-1. Read the following sentences in Odia carefully and select their correct translation

into English from the four answers given under each question as A, B, C & .

Gefsic GF21 Qe GO O] AVRIER I0 We° JERYR Jg O6R A, B, C B D
QIeea SRR SIERIT aaa aug EQ6e CAFIRG A0R QUaIRT 2RI SR

oa® ¢4 Techofworld.In

| 4l.9fe0 g2 29R F91 9R6a 219G |
A) Kolkata is near river Hooghly.

@ Kolkata is at river Hooghly.
C) Kolkata is beside river Hooghly,
D) Kolkata is on the river Hooghly.

I -
12, QIgeea 88 emef El6Q egada adeya ebeia e RN

n Jearned 1o write.

A) The history of literature réally begins long before me

B

—

(C) The history of literature really began long before man \earl
D) The history of literature really begins long before man lear

groed 1o write.

¢ history of literature really began long before man le

15 10 Write,

15 10 wrile.
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Hlway e the fourth larges Fatlway in the wﬂd!
- ! o aeerid
H'm"'-'il"-'.'i wias the fourth Il'lrﬂ'-ﬂ;l r“““ﬂ:r' mn the
€) Indizan r.-n'huf,-.}_.5 is the fourth large raj),, iy in the world:

D) Indian Pilwy 1o fourth largest railway .

Techofworld.In
.'. @:ﬂnctm is *CCing the Patient’s pulse

e Patient’s pulse.

“ Qgad oiR B6Rga 2@e |

A) The Presj dem “Ome to Bhubaneswar tomorrgw.

D) President wij; “ome at Bhubaneswar LOmorrgw.

% odiagea Ro1eg PR 2ea |

@n the rainy season flood comes in the river,
B) In rainy seasop the flood come in the river,
©) In rainy season Hood came in the river,

D) In rainy scason, flood comi ng in the river

.
.y

-.".E'-;{_:-_-m:t dINg 629188 eardlcn AT 2iqa @ag|
B |
A) Farmers star cultiv

ation with the onser of the rainy
EI'L Farmers started cultivation with the onset of the rainy season
0 Farmers starting cultivation with the onset of the rainy seasop,
D) Farmers have started cultivation with the onset of the rainy,

106 OR 66169 g ey |

A) Rice and Dal are a balanced food.

IRice and Dal is a balanced fo
Rice and Dal are balance

aI

i
&



*“ea ago sonad |

A) He has put up his resignation.

B) He has put on his resignation.

C) He has put in his resignation.
@Hu has put out his resignation.

50. iGal PRe FIZIIGN®] ersc FdR| eIt fiid 2 Vet G 2p gea aueem |

A) The father of the Nation, Mahatma Gandhi is born on 2nd (tpher 1869.
B) The Father of the Nation, Mahatma Gandhi Was born in 204 (yeqober 1869.

@Thﬂ' Father of the Nation, Mahatma Gandhi Was BOIN on 2nd October 1869.
D) The Father of the Nation, Mahaima Gandhi 18 born in 2nd Ocygher 1869,

51.5mIpe AoIa @ Areqide gee aoRIdl

A) The History of Science was the real history of Mankind,
@The history of science is the real history of mankind,

C) The History of Science is real history of Mankind,

D) The History of Science has been the history of Mankind.

52. 9n QG6Q 6RGE AFKL GRIRE? Techofworld.In

A) What is the time in your waich ?
@What is the time on your watch ?
C) What is the time by your watch ?
D) What is the time at your watch ?

| 53.gngag d6a ediag a6a |
| A) Rainy season cOmes after the summer season.
B) Rainy season come after the summer season.

C) Rainy season will come after the summer season.
@The rainy season comes after the summer season.

54210 08 @d 6efl Soteieaidl BRagBen ARy edaa 28!

yE ars.

A) The price of essential commodities have gone up in recent
@The prices of essential commodities have gone up in rece™ years.
C) The price of essential commodities had gone up in recen! years.
D) The price of essential commodities has gone up in recent ¥ ats.




I:'Illp'a;:"' 14 oy 4 ‘

5. Odeed SR o I+ grig BIRINRIES 691! Gagq |

A} YOu needey o omfortable shoes for Walking in the il

@Tnu Need comfortable shoes ©© Walking i the hlmf
€) You need ¢ fortable shoes for walking in the hills:
E} Your e Ll.'_iﬂ"lf[ll'tﬂhl: shoes for “il”ﬁ_ll’]g in the hﬂk’

%86 U950 apaipaa gRAI 99 606 oig GEE!

| A} In the Present ape, the process of LT rhmusutmn gﬂﬂE OA:HY

@Jﬂ the present age, the process of urbanisatiop s gmﬂﬁ
€}l the present age, the process of Urbanisation go on 2

ry fast pace. 81

fl' .. pace.
rId In

D) In the present age, the process of Urbanisation has gone

_'I | ﬁ?-smtﬂﬂ di9eie ag 26 ggel | TeChO

A)All the furnitures in this house are very old. Ve
I @A“ the furniture in this house is very old. .
@jﬂl fumnitures in this house are very old.

D) All the furniture in this house are very old.

ﬁﬂ;gﬂﬁm Q8el 9o oyg QER QAR ERIRGIRIE

A) Living has become quite a costly affair now.
—E} Living has become a costly affair now.
1‘;@ ﬁﬂng 1s become a costly affair now.
D) Living had become a costly affair now.

BN 6061 QIIRGI PIRIR FRA 61 © alasmmm
~ A) A country's freedom can be preserved only by her own str
.-:__,__. A c.uuntr)r'ﬂ. i uirll..!r.':_'-'i' [ hﬁp]'ﬂﬁﬂﬂ-’ﬂd ﬂﬂljrb? |

Ta8E GARIGE |
land self-reliance.
and self-reliance.

id self-reliance.

..I'.'r"

N ot}
LG LLATICE
TRk

616 816 coazal |
1. 1 Lt .:'-:-,"‘,:_-_;-‘:‘.-u -n]]_! ﬂ'jE h‘ﬂill m
*hed at the station. the train h
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L]
PART-IL Read the following sentences in English ¢ ”'thil.‘- and select their correct ¢ lation
runslatio

into Odia from among the four ansyers gIven ungg, tach guestion as A, B, ¢ g 1y

PORSe araie QIeigPe AeaeRieR 99 g g QEeER A, B, C 3 p
QIesn Sauaineel Ieais aee IR 6FNT s = wa) 2G9N0 oigl

S Techofworld.In

51, Glass is a bad conductor of electricity.

A) @10 T4 §Fa gaGeist | B) 919 9949 65a cagieien |
C) Q10 849 aFa masa §6a | @"?’"‘5‘ P10 a5n NG aesl |
62. He did not pay heed to my words.
A) 69 6l 92l QgRl RIB | B) 69 &0l 921 ofqy @iF |
@ 64 &Fl @2 gaiml FI@ | D) 69 671 @21 quidql i@ 1
83. To remain healthy is a social responsibility.
A) 99 QB 99 ANGe Faey | B) 9961 90 ante Qg |
@qa QEQ Y@ afFEe Qg | D) 99 QEQ 99 arIPa GEeY |

64. Ganga nises in the Himalayas.
A) Gigfl SriRass @0 28 | @mﬁﬂ PRIREG Q918 28 |

C) Glafl SFIRCSR 9F 28 | D) GIEF SrIROER GIOL 62108 |

B5. [t is quarter lo eleven.
ﬂEIIE!E'J ana FRe 60Ie8 |

C) eIRel J6a 4a 89 |

B) QL6 AR Q6a EIRg] 689 |

D) Qe6 Ane ZIg eRgl QIFGI |

66. Patna stands on the river Ganga.
A) QI6R GEHRG Qd6a A9Ee |

(©) asal eaRaT I6ER 2080 |

67. My graﬂdmﬂﬂ'lﬂl' is talkative.
A) 671l 6@6RFI 920 6O 997 |

@Eﬁl 6R6R¢I @20 9] 9] Q6P |

B) QI6R FENRYT 9F6 2040 |
D) Qlgql aeTIRQ BI0ER 2A9ER |

B) 6l 667l 980 E“i@ |

& i



nd the Earth. ‘

/ e . FOMES
64, For thousand, . vears people believed tha S r:vﬂlf?d |

A} WSS Ogf uE cmie RIQESR €Ty A GIRdEs
B) 94 g UG emIER RIGEERM 68 gy Qelen r;-iW ﬁﬁ
@ PRIR 2616 od U8 6AIH A9R o ady qﬂ_ﬁﬂﬂfﬁu :
D) o8 €12 og g emice AIFEER ey qeie QIBIEER age !

| THc

al6al qﬁlﬁ |

| a8 | prefer coffee 1, 1y
|' @ BFIIED &) Qg &F e /IsE | TeChOfWOI‘|d . I n i
{,' B) 57160 63 o ol @R @i6a |
j €) 87160 0F = o) am e |
': ' D) 6FI6e o 01 & adig 99 eR ey | 7B
' 70. The train is ap, time,
f' @) somaic 0% anasa eiFeE | B) eapale Of Arase SIpeR |
Rt C) 8RaIE Gg anase aess | D) 6apaIP O] AAAER J28e | -
|[J 7. Kalidas wrote Meghaduta, |
A) BIRea snage emged) (Byemom snage
© 9o 6aage ereeea | D) SIFGIa 67
721 wake up at dawn.
A) ] 9601868 Qg0 | (B ggies | :
C) o 95isR a60 |
| }_..,_ - The battery has run out.
 ®e15a 696 g
g
- O 9660 af apd |
|

A) < 90T GRsgIel |

'..._ [

©v 70 g aima |

.......




26 We need a good Counsellor, &4 Page
() 278 858 87 aainsioe caaig |

B) 2llFlel W68 QM QGsne) QeI |

(T of 2B

€} AR D68 AR BB Tra caeia |

D) ZIFIR 9681 OR QB EHIREIE oaeld | Techofworld.In

;ﬁ‘m grane has a big hil|.

— A) 961R RYl 6516 215 | B) 9616 &%) 00 a7 |
@ QolEl QF alg g | D) 9619 99 oy a7 |
Wh makes you laugh?
A) 29 Q9% AIRE? @ A=) 095?
C€) @08 29e ? D) @8 9ga;

S=rs

78 We should be ashamed of open defecation.
A) QIRIER 9MA CIal 26F AR 629l AFQ |

B) QIR0 AIRCR S4iel A6 2I6A KRGS 6291 AeY |

(©) @i 20tigia §a Teel A 26A RS 629 659 |

D) QI2I6R 680 ULIAQI Id 26A AFE 6291 AFY |

1 could not but laugh.

A) ¢ ed Qieq Q1T | (B) 4 2@ aem AiF |

C) ¢ 2@@ A | D) ¢ @ 28 B0RR AIF |
SECTION-C

General Knowledge on Excist Matters

Read the following statements and choose the most appropriate of the four answers

D

en below as A, B, C&D.

Bt _ is manufactured in which distillery 7 :
7 .U i Distillery B) Sakti sugar distillery
. g D) None of these
C) Boudh distillery
alyo’ coqie 674 GgmIaea Geud g9 | .
Wl .__::.' " W}E%ﬁ ﬂ} Eﬁﬂﬁﬁ EEE




82 Which of th,. ollowing

?) @Ig2lien 99 @ ) aege @) 269 es
86. Which of the following is a drug 7 1
A) Liquor B) Tadi 0) % D) Ganja
o Qe Aug ead 6O @8 26e 7
@) F1o 8) o1 ) Qugp a)) ciseig

87 Which of the following is not an intoxican
1 A) Handia B) g

. P9Rge fug 6eds Aelee
@) @ide)

irem 1% mﬂnlllituh.m-..: T dmﬂ]ﬂfj’g 1 D) Spjril
"'_q"_:' Beer B) Wine @MMM‘IW
FgRICica iy Wele g el FRE 995 e 2 a) q5e
w) 651‘5! E‘I] EIEe W
83. What is the basg material used for man; iy, - -. - -ﬂﬁr ?
il = ACluring “fw L ) Cocaine
| Ganjy 3) Opium ) Bhangd ]
SRS geng E@ﬁe@ G218 g9 ? (
@
SSEE Susar distiery s siued in which 4, R@CHOfWoOrld. 1IN
) Angu] B) Dhenkang| C) Ganjam i
- @) 2pqe 9) 60RIRIG @ amg . pcie
. BINTERNATION, DAY AGAINST DRUG ABUSE AND ILLICTT TRAFFICKING is
] abserved op which day 2 P
A) Jan 26 B) June 26 C) Ociohe " D) August 15
2HI010 Ben 9oy zavionia 2634 Qiacia Peal B9A” 694 GIRGEA dipp
@RIaNg 7

g8. T

EH--

(F



of the spirit used for wie polish =/ Page 19 GHNS

gluw e
- | o
A) Rﬂﬂhﬁ‘;d_ Iplﬂl B) Denatureg Spirit
¥ s I' -
c].Elh}I'fl?-P'n 3 D) None of the above
glo el IRl 9968 QRS a qin oy >
ERRTNE Gl =
@ e &) Genad Gag
IR G 2 ;
g) REIRR oY Q) 661688 geg
Hlmmﬂ_: ﬂf“TﬂI‘iH iS'
' Sweet
A) B) Sour C) Bitter D) Sweet & Sour
oF @ 9e
Techofworld.In
@7 &) eiey q) ol q) Aol G &6
0. Which of the f“"m‘-’iﬂg item i3 known as Drugs 7
_ A) Cigarette B) Bidi C) Ganja D) Bhanga
Bg @0 991 AUQ 6RGE ga 7
@) daisas 8l o@ @ BlEEG| @) QUer
91 Which disease is caused by frequently taking liquor abnormally 7
A) Asthma Disease B) Liver Disease
) e r D cesice D) None of the above

AIGRS ARMETRR F6m 6RG 60I6 ERIREIN ?

@) 99 615 ﬂr&g@ 6ElE
| @) g6 el @) emladt gew
92 How many Excise districts are there in Odisha ?
A) 13 B) 30 C) 31 D) 3

al Qieen 6060 61T AeaIen AR 28 7

CLE q) qe a) 9

quugr 15 prep.‘ﬂ.l'ﬂd from grapes ? ‘
B) Brandy C) Rum D)Gin
2Q eea Ae fae 997
Q) 8e

@) 91§ ¢) af




b

N

’..

C s P_:—;'_.-

AR
ing base material -

94 LR T — stired 1
Handia (Pachw iy jg manufaetured from hich of the foll@¥ D) Raggi
0o

A Sugay B) Rice ¢y Wheat 100 .
P SR G g 7 b
@) &5 @ oas o) eRfl i
g5 Hasis is a drup available in which form 2
A) Soliyg B) Liquid C) Semi figuid D) Gaseous
989 961 624 20geq GIRG ? Techofworld.In
®) 96 8) o6 ) o6 0GR @) euiaia
SERiCh of the m”*"“"fﬂg Excise Act/rules iz iy force in the State of Odisha at present ?
A) Bihar Odisha Excise Act 1915 B) Bihar Excise Rules. 1965 g
C) Odisha Excise Act 2008 D) Odisha Excise Rules, 1965
QEIFIR B5g| BlIEeE 6aE 2RI 2Fan / Gacer SIgER ?
Q) 920 GHal aepian 24T eces o) Goia GBS LRI FAAINET ecog
% 10
§) GEaI 2epiq ayFan Soor @Gﬁﬂ[ peRIEN FaqIew ecos
97. Arrange the ﬁ‘JII::wing positions of Excise Department in ascending order.
_l} Inspector of Excise i) Assistant Sub Inspector of Excise
1ii) Excise Constable iv) Sub Inspector of Excise
A) i, i, iii, iv BY i, i, v, i C) i, iv, i, i D) i, ii, iv. i
a9 TRIEia Ferlg aeel 68 9Rg @6 FrEa aRie GRSl |
(¢) 2erien Fenas (9) QoRin QaRas
() 2eqien 2ing (¥) 2eqien RoRaas
: __il_h-- e
. @) e 99y J~ q,, ¥, e @) 9% 9, e @) |, 9% e 1
98. Bhang is prepared from which part of the Bhanga plant?
A) Root B) Stem e
B)S C) Leaf | D) Flower
BIE" QUET GBR 694 2°ag G2/ o9 |
. 9) R ) oig @ag @qa
99. What is the limit of possession of foreign liquor for a commion mawse
2 Li Mo SAsconsumption ? '
A} ter B P LJ'IEI’ E} zjﬂﬂ L “ . . 11 ) 1 5{“] .L_ |
66 QRIS 6mIa QIRRIR Qe cRse TRAIER Gee ao & e !us,-r E
| S TR Qisien agaifise ? }
?) 9 Rea B;ﬂmﬁq =1 ;

@) e.goofic



= " l-- _|' |'.:||| !'_EH
range the following designation in descending orders ? 224
ﬂ-EHﬂSE R erent i) ]."'n..'l.*uh- | intendent
; ¥ Excige 8 ntende
iii) Excise Inspector VB cise Supert
. “ARI5e Sub Ins
i, il, i, iv e e L spector
A) 11, 1, 1 BY ii, iv, iii, i C) i, iv, i, i :
Dy Mone of these

Aeria) BRIGR PEClIg aue gie @ @ AR @67 GRIR sqy |

.l}'ﬂmﬂgTeChOfWO rld . I R T

_ﬂﬂﬁﬂﬂﬂﬁ’ v} I'l;:"i‘:l-aE“II-'.‘JHI
@) i, ii, iii, iv &) i, iv, il i @ W, iV, i, i Q) eaIeaE ge

ig;‘;'ﬂi!'hﬁtiﬂ the quantity of opium one can poses without permissjay o

Grl BRAP6R 6RE0 QNG aTFR P68l R TINEA GeaEe ?
Q) 5 a9 @) 10 g@ 6) 25 g @jﬂmﬂ ]

102 How many Excise divisions are there in Odisha 7
A) 3 nos. B} 6 nos. C) 3 nos. ) 10 nos.

-.; QleYER 660 SOIE PeqIal Gawe fRE ?

Q) 8 6alIE a) 9 eql @) 7 ead @) eo GaIE
103 What is the base material for preparation of liquor?
A) Spirit B) Molasses ) Mohua flower D) Malt

flo ggoa 2R aeid @6 ?

Q) qae (&) erimuesa q) FAgR TR Q) fIg

purpose for patients with advice of Doctor 7
C) Bhang 1)) None of the above

*Which drug is used for medicinal
A) Ganja B) Opium

600 erg Gladqiee GRIENT o4e0ia aid eiga amind eoselg 7
(©) sele@s gsd

a)lallay

Q) GeE@ @) ada




105, wihich plac,. .

1€ is o illegal for consumpy,,, of foreign liguet : 149
AVE.L. ' Shop B Hotel
) Ui'lilh;l ”].L.il.'-l!i'l-pﬂj par
(o=l eien 4 Ao Jael 6LEInn Ted 7 :
@) 6F Q9 Q0 soRIR &) GRIBE
&) Qe @ mes? qig <1t 112 %
106 WhO is the Exciy. afinictor af Oclishy? o
A) Bt Bikram, gushariArukh B) Sri Lal Bihari Himr G
C) Sri Nir anjan Pujari ) None of these _
I 113,
EEEIE dDRIen FIg1 @ 7 TeCh OfWO rld s n
®) 91 990 coam 2iga &) i IR FEIR1 A6
@ e daen (== q) AR ARIQ 692 297
107. Which date i Observed as ‘Dry day’ i Odisha 7
AY Avipuss 15 B) January 56 C) October2 D) September 5
GEall 68 “Dry day’ 666l OIREIER UG equang 2
@) 26g 15 o) egam 26 g) megea 2 (@)sasqaa s
108. How much Quantity of Khajuri Tari one can possess for personal consumption ?
A) 3 Liter B) 4 Liter C) 2.5 Liter D) 5 Liter
B6el Al smie @l 2RAB 996R coco JBAIER eigen OF B8 @ieoia qid REaGia? i
®) 9 foa d) ¥ fea ) 9.8 figa @ 8 fea
109. What is the limit possession of bhang for a common man’s consumption ?
A) 120gm B) 100 gm C) 75gm ) D) 125¢m
G661 ARIRE 6MIN @1RRIR AT 6760 TGAIE QI B aleieq QgaiRies 7
@) eso g @ eco gie @ 25 an @) e98 gin
' "
110. The Excise Constables are promoted to the post of- .
A) Habildar B) Sub Inspector
C) Inspector of Excise D) A'S.1 of Exej _
2RI GERYR FIEH 6o qoe1g a6RIg0 QIP -
_ JBS
® eGaan \ 8) 99 Qdqg

6) 2eaia1 aRasIRR %) 200161 Yazg
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":‘ﬁ*ﬂmiﬂ" e tivated o any place any time 7 ¢/ Page 23 of 20

A) Yes By No C) Limited p, .

ﬂa P18 6T6RIEIE Qinen o E6RIEE GRRER SRI0E UBo = 4
g\ & o) 799 g i

LT
swhat amount of fine ¢y 1 3 I
2 What N be imposed on the driver for drivip, ;- |
= M drunken stage ?

A) R;‘- S000.00) B} Rs. 1000000 C)y Rs. 1500 M
e = it 13) Rs, 20000.0
o 08 SIF ORIRER IRRG 6960 sRIEAIRl 6099 UG - ) Rs. 20000.00

@ 8000 B&F @) eccoo g 8) 2800 g

113 From which part of the ganja plant Ganja is prepared 7
A) Leaf

Brot  Techofworld.In

C) Flower

D) Flowering and fruiting tops with seeds
geBa G180 696l QUICIRG Qg QIAN ?
@) 989

6l) 6909

@ 2ng

d) IR, Im, 26 6 AEQ

4 a is the head of the Excise administration in a district

D None of the aboy,;

Q) eNE@e gae

@) soooc G

' A) Additional District Magistrate B) Excise Superintendent
) Collector D) Deputy Commissioner of Excise

falca 2eqie galgRa el @9 ?

4

@) 266y FRAR @ AORIRN RJER
§) FRiam ) zesien Qg

1 e e

=
<y Wl

our of country liquor is-

A) Transparent white B) Milk white () Blackish

d) SRR R §) 99 @ R




c/ I'Il.'IF:L" 24 ot g

1986, (}Piﬂm i.q I']']“h“ﬂ-.lciumd E—nm “lh Eh.:h F"lli.”]l ':_I

.A} GHI'IJE']' Plant B} ﬂhangq I}r-\'J['Il_ C) FEP.F-}' PIH.H.‘- [:” Mahua Tree
ade WERG Gag 99 7
®) G68R qg  ¢) QT B8 @)od 8 iR oe
117- What is the base material used for Hlur1ufhcturing of «Charas’ ?
AJ ﬁﬂ“jﬂ B} (}Piurn E] Bhﬂﬂga D} Mﬂdﬂk
069 6R6R Gz g4 ? '
%) csmg )z q) QI Qpese
1180n the urban area, within what distance frop, the educational institution a foreign liquor “ON™
shop cannot be opened 7 |
| A) 600 meter B) 800 meter C) 550 meter D) 450 meter
00 ssiiml A0 soipp apammes ARIgYR Olp 6wee GAER RIS AP ?
@) %00 feq (@ roo deg 5) 880 A6a Q) ¥8o Aa
119. From which base material Mahua Liquor is prepared ?
A) Rice B) Gur C) Mahua Flower D) Mahua Seeds |
gR co codag camge? | echofworld.In
®) eleR 8) ge @ ) '
Agm gm @) Fga A |
120. For which of the following items, there is no provisi ] '
i Wi [ : provision of granting sale license in Odishg 7
) anja iquor
| C) Liquor D) Mahua flower
600 PEIRY BG aIel BBgIea MIRsay 021 AR o i “
Q) Qier Ecua 6) @
fo @
= ) - Q)gR ga

FEERR Y hadng




